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QUESTION 1

What type of workflow can be called from an onChange event?
A. Subflow workflow

B. Synchronous workflow

C. Asynchronous workflow

D. Scheduled event workflow

Correct Answer: B

QUESTION 2

A My Reports report has been designed to return the assets associated with the user logged into the system. When the

report is run by the user it returns all the assets in the database. The user has been assigned assets. The assets display
correctly in the user\\'s people record and the proper forward association from the perspective of the people Has Assets

and the reverse association Is Asset Of has been created. What could be wrong with the report?

A. The association filter is using the string Has Assets.

B. The association\\'s filter property Reverse Association is set to Yes.

C. The association filter is using the keyword $$RECORDID$$ for the record.

D. The association filter is using the business object of triPeople as the filter\\'s object.

Correct Answer: C

QUESTION 3

How can end users be prevented from personalizing their portals?

A. Modify their Security Group; change Personalize Portal to No

B. Modify their Security Group; change Personalize Bookmarks to No

C. Modify their Security Group; change Ignorable For Nav. Overrides to No
D. Modify the Portal using the Portal Builder; change Lockdown Portal to Yes

Correct Answer: A

QUESTION 4

A change is made in a sub action configuration but has not carried over correctly at runtime. Why?
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A. The developer did not publish the state transition in Data Modeler.

B. The developer did not import the sub action into the form in Form Builder.

C. The developer did not click OK to save the changes in the Sub Action properties.

D. The developer did not make the change in the base business object in Data Modeler.

Correct Answer: B

QUESTION 5

Where in the Admin Console can it be determined which workflows are currently running in the system?
A. Workflow Events

B. Threads Manager

C. Workflows Executing

D. Workflow Agent Manager

Correct Answer: C
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